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General Iﬁstructions :
1. All questions are compulsory.
2. The question paper consists of 34 questions divided into four sections A,
B, Cand D.
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3 Section A contains 10 questions of 1 mark each, which are multiple choice
type questions, Section B contains 8 questions of 2 marks each, Section C
contains10 questions of 3 marks each, Section D contains 6 questions of 4
marks each.

4. There is no overall choice in the paper. However, internal choice is
provided in one question of 2 marks. 3 questions of 3 marks each and two
questions of 4 marks each.

3. Use of calculators is not permitted.
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SECTION A
Gus A

Question Numbers 1 to 10 carry 1 mark each. For each of the questions 1 to 10,

four alternative choices have been provided, of whzch only one is correct. Select

the correct choice.
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1. The roots of the equation x* + x — p (p + 1) = 0, where p is a constant, are
(A) pp+1
B) -pptl
€ p-@+tDH
D -p-(+1)
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THHOI X2+ x—p (p + 1) = 0, Sleh p Ueh 3TN B, h YA &
A) pptl

B) -p,pti

©) p,-(@+1

O -p,-@+1D

2. Inan AP, ifd=-2, n= 135 and a, = 0, then the value of a is

(A) 10

(B) 5

<) -8

D) 8

IR T ER AN D d=—2,n=5TM g, =03, WaFARE
A) 10

B) S

<€ -8

D) 8

3. In Fig. 1, O is the centre of a circle, AB is a chord and AT is the tangent at
A. If ZAOB = 100°, then ZBAT is equal to

A
T
(A) 100° o 1 B
(B) 40° a
(©) 50°
(D) 90°
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AFR 1 &, O TF I F1 F3 7, AB TF ST § a1 AT g A W waeian 3
gfe ZLAOB =100° 3@ L/BAT SR 8

(A) 100°

(B) 40° | T

©) 50°

D) 90° B
TR 1

4. In Fig. 2, PA and PB are tangents to the circle with centre O. If
ZAPB = 60°, then ZOAB is

A
(A)  30°
(B) 60° P
© o :
(D) 15° Fig. 2

Al 2 4, PAH%PB@@WWO% ‘mﬁ@ﬁ%@@%w&
ZAPB = 60°% @ LOAB T 2

A
P
B
(A) 30° #a2
(B) 60°
(C) 90°
(D) 15°
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5. The radii of two circles are 4 cm and 3 cm respectively. The diameter of the
circle having area equal to the sum of the areas of the two circles (in cm) is
(A) 5
B 7
©) 10
(D) 14

3 gt 1 BISTe wmen: 4 Jt qun 3 T E ) DT I o &l o AR % G
R o Tk 9 1 = () R |

A) s |

B) 7

(C) 10

(D) 14

6. A sphere of diameter 18 cm is dropped into a cylindrical vessel of diameter
36 cm, partly filled with water. If the sphere is completely submerged, then
the water level rises (in cm) by

@A) 3
®) 4
< s
D) 6

T SR s, SRt =me 36 T 7, 1 $© WET U | SRR | 3O 18 At

ST T Teh TS ST STl ¢ | IS Tt It # I g & € 9Tl ©, af 9+ <6
I H ST ghg et 7, a8 (S ) 2

(A) 3
(B) 4
© 5
D) 6
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7. The angle of elevation of the top of a tower from a point on the ground,

which is 30 m away from the foot of the tower is 45°. The height of the

tower (in metres) is

(A)
(B)
(©)
(D)

15
30

3043
1043

T % T forg ©, 1 U WA & wie-forg ® 30 Hi it gt W B, iR & fre
T A 45° F | AR A FE (Al ) B o

(A)
(B)
(©
(D)

15
30

303
10+/3

8. The point P which divides the line segment joining the points A(2, — 5) and

B(5, 2) in the ratio 2:3 lies in the quadrant

(A)
B)
©
(D)

!

II
III
v

fargati A(2, — 5) @91 B(5, 2) & e amet [@rave it 2:3 % ST | sied
e fag P e ageia A foa §, ag

(A)
(B)
©
(D)
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The mid-point of segment AB is the point P( 0, 4). If the coordinates of B

are (-2, 3) then the coordinates of A are

(A) (2,5)

B) (2,-5)

© @9

D) (=2,11)

P( 0, 4) T YETETS AB F1 qed-faeg ¥1 Af B % Fw® (-2, 3) &, AWA S

A 2,5)

(B) (2,-5)

10.

30/1/1

© @9
(D) (-2,11)

Which of the following cannot be the probability of an event ?

(A) 15

3
(B) 3

(C) 25%
D) 03
fre o & P oY, el e Y wikreran 7 g wehd ?

(A) 1.5

3
(B) 3

©) 25%
(D) 03
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SECTION B
Qg

Question Numbers 11 to 18 carry 2 marks each.

11.

12.

13.

14.

30/111

YT GEIT 11 @ 18 TF Ted G977 % 2 37 &/

Find the value of p so that the quadratic equation px(x —3) + 9 =0 has two

equal roots.

e THIRR px(x — 3) + 9 = 0 & p 1 AW 1A H1iore e Br wefartor 3 &
R A & |

Find whether — 150 is a term of the AP 17, 12,7, 2, ..... ?

T SIS foh = wRTeR A0ft 17,12, 7,2, ... FITH UG — 1508 7

Two concentric circles are of radii 7 cm and » cm respectively, where r >7.
A wnuiu v wetaiger futrad; vrtengn-«s Clng Wuctfes e strditer ‘tircle.

Find the value of 7.

T Th gt S s e 7 Ot a9t §, St r>7 R SR Iu A T
sfen, Foroeht o= 48 Tft 3, BI2 I ol Taet A B | 1 WA 1A it

Draw a line segment of length 6 cm. Using compasses and ruler, find a

point P on it which divides it in the ratio 3:4.

6 T} T Uoh WETEue Wi | TR T SO o TN 9, 39 W U fog P 91
T T 30 ITGUE T 3:4 o STIIT § el ¢ |




15. In Fig. 3, APB and CQD are semi-circles of diameter 7 cm each, while

ARC and BSD are semi-circles of diameter 14 cm each. Find the perimeter

of the shaded region. [Use = .%73} '

Find the area of a quadrant of a circle, where the circumference of circle is

44 cm. [Use T = -2772{1

3T 3 7, APBamCQDmmrﬁsm%aﬁqa%aa%ARcamBSD
A% 14 W =W F erfga 2| oEifed W W URAT® §@ i

2],

7

St |
@gﬁ%a@aﬁrmmmm,mﬁwﬁmmﬁ%(
7 =22 <ftfre |
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16.

17.

18.

Two cubes, each of side 4 cm are joined end to end. Find the surface area of

the resulting cuboid.
2w, FeE v Y oo 4 Wt R, & Hord woten! I e T 8| S W
TATY 1 ETT &% [T ST |

Find that value(s) of x for which the distance between the points P(x, 4) and
Q(9, 10) 1s 10 units.

 x % 3 9F TG I ek fore femgatt P(x, 4) @9 Q(9, 10) &S Hr gl 10

m_%|

A coin is tossed two times. Find the probability of getting at least one head.

T ToeenT 21 IR ST 791 | 9 O A ok T 319 1 9ifrerar 3ma Hifsm|

SECTION C
Qs H

Question numbers 19 to 28 carry 3 marks each.

YT GEIAT 19 @ 28 TF YF J9T & 3 3TF

19.

20.

30/1/1

Find the roots of the following quadratic equation :

24/3x2 =55 +/3 =0
Teaferiae foeme et 3 e s il -
24322 - 5x+4/3 =0

Find the value of the middle term of the following AP :

OR

Determine the AP whose fourth term is 18 and the difference bf the ninth

term from the fifteenth term is 30.
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21.

30/1/1
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In Fig. 4, a triangle ABC is drawn to circumscribe a circle of radius
2 cm such that the segments BD and DC into which BC is divided by the
point of contact D are of lengths 4 cm and 3 cm respectively. If area of

A ABC = 21 cm?, then find the lengths of sides AB and AC.

FE
, C
4 D 3
Fig. 4

AMHG 4 7, 2 ) Bre a0t T 99 o TR0 T S ABC 39 TR ©iET TR
% f YwTavs BD 3k DC R wt firg D 31 BC R 2, 4 enamet
AT 4 Ot 3 3 At €1 3f A ABC = gwat 21 9 g, ?ﬁ‘ﬁiﬂaﬁABW
AC ! TTgal T <hIfT |
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22,

23.

24.

30/1/1

Draw a triangle ABC in which AB =5 cm, BC = 6 cm and ZABC = 60°.

Then construct a triangle whose sides are % times the corresponding sides

of A ABC.

T RS ABC STsT et AB = 5 @ft, BC = 6 3 @91 ZABC = 60° 2 | i
@ﬁgﬁﬁm@ﬁqmﬁmAABCﬁmwﬁﬁ%Wﬁl

Find the area of the major segment APB, in Fig 5, of a circle of radius
35 cm and LAOB = 90°. [Use = %}
P

A B
Fig. 5

3pta 5 #, € JoEvE APB 1 &6 T SIS safeh oo 6t fisem 35 el &
WLAOB=9O°%|[,;=Z7.2.§&%{Q} |

5 -
The radii of the circular ends of a bucket of height 15 c¢cm are 14 cm

and r cm (r < 14 cm). If the volume of bucket is 5390 cm’, then find

the value of r. [Use T = 2_72}

15Wmﬁ@w%mﬁﬁﬁﬁwﬁ 14 ¥ qom 7 At &,
a7 < 14 Qe § | AR et Y ariar 5390 = A B A - 1 AW 91 A |
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25.

26.

27.

30/1/1

Two dice are rolled once. Find the probability of getting such numbers on

two dice, whose product is a perfect square.

Or

A game consists of tossing a coin 3 times and noting its outcome each time.
Hanif wins if he gets three heads or three tails, and loses otherwise.

Calculate the probability that Hanif will lose the game.
1 UTET I T TR IBIAT AT | AT I R U et & A i wiieRar g
i, Torent Jormcee ol ol 2t |
3T
T T § U Teh i SR ISTE STaT @ 3R Tes 9 o gien fora foran

STar 7| < o O 9 92 9TH 8N W), &% Sfid StTem, ST 9% g1 S |
% % el § R ST oh Tiesdt aierford i

From the top of a tower 100 m high, a man observes two cars on the

opposite sides of the tower with angles of depression 30° and 45°
respectively. Find the distance between the cars. [Use 3= 1_73]

100 i S Tk T1aX o BT & s =gt 2w i fyudia faemeti § € o) ewar 2
RFRh I HI HEW: 30° AT 45° Bl &R % a1 A g Fa Him)

[\/5 - 1.73 <fifer |

If (3, 3), (6, y), (x, 7) and (5, 6) are the vertices of a parallelogram taken in

order, find the values of x and y.
Ifs forg (3, 3), (6, ¥), (x, 7) 3 (5, 6) T FH H a4 I, qmma@ﬁa%
ot & dt x 3 y % 7 3| Fm)
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28.

Questi

If two vertices of an equilateral triangle are (3, 0) and (6, 0), find the third
vertex.

Or
Find the value of £, if the points P(5, 4), Q(7, k) and R(9, -2) are collinear.
s wHag s & @ e (3, 0) e (6, 0) 7, e T s R

YT .
k31 T 3T <hifsre, fe fomg P(5, 4), Q(7, k) T R(9, —2) H¥E £

SECTIOND
Que g

on Numbers 29 to 34 carry 4 marks each.

NI GEIT 29 @ 34 T TAF Jo7 3 4 37F &1

29.

30/1/1

A motor boat whose speed is 20 km/h in still water, takes 1 hour more to go
48 km upstream than to return downstream to the same spot. Find the speed

of the stream.

Or

1 11
- ! =—, x#-4,7
x+4 x-7 30

T AR 12, ekl fedr 51 § =t 20 Tt /w2 8, 48 TordT 9T o Wiceget st
H, I gl ORT o SRS T At ST, 1 T ST Tl 8 | 9 A qa
Hiisg |

Find the roots of the equation

31T
e 111 x # —4,7 % & 1q hIe1C |
x+4 x-7 30’ ’ '
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34.

30/111

A

B C
D
3 6
From a solid cylinder whose height is 15 cm and diameter 16 cm, a conical

cavity of the same height and same diameter is hollowed out. Find the total

surface area of the remaining solid. [Take & = 3.14]

15 It Saré @i 16 T = Ao O ord Ao § ¥ 3E ST oi 3 =
ST Toh WEETRR i hie fora STTa 8 | 919 s 319 o1 avqof gt &mset
v [n=3.14 wifie] |

Two poles of equal heights are standing opposite to each other on either
side of the road, which is 100 m wide. From a point between them on the
road, the angles of elevation of the top of the poles are 60° and 30°,
respectively. Find the height of the poles.

T 100 Wl =St S o QI SR SHA-HE GHM HalTs a1c] a1 &P o g 8|
T SHI @l o o9 9ge o U fog W @l o e & 3739 i HHen: 60° 3R
30° &)@ ot S 3 iR |
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